
BARBELL RACK（10000817）



11
27

787

889
.5

MAX CAPACITY:70KG

MAX CAPACITY:400KG



HEX BOLT M10*70 8PCS

WASHER φ10 16PCS

NYLON NUT M10 8PCS

END CUP 4PCS



M10*70

M10*70

φ10

φ10

φ10

φ10
M10

M10

M10

M10*70

M10*70

φ10

φ10

φ10

M10*70

M10*70

M10*70

M10*70

M10

M10

M10

M10

M10

φ10

φ10

φ10

φ10

φ10

φ10

φ10

φ10

φ10

HEX BOLT M10*70 8PCS

WASHER φ10 16PCS

NYLON NUT M10 8PCS

END CUP 4PCS


